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AE | IEfz K4 ouT | IN [#Bx|H D| NET =
@) 1 Iz &8 IF5h 42 46 88 | 264 [ 616
O 2 ik =& 31 44 75 13 62
O 3 #HHE A 37 39 76 | 138 | 62.2
O 4 [REH =B 35 41 76 | 136 | 624
O 5 S EE 34 38 72 8.9 | 63.1 BGE
6 EX ET 37 44 81 17.7 | 63.3
7 2K B2 39 45 84 | 202 [ 638
8 HHE & 34 42 76 | 122 | 63.8
9 R B 39 40 79 | 149 | 64.1
10 h ¥ HiER 43 50 93 | 284 [ 646
11 HE 2 38 46 84 | 18.7 | 65.3
12 X5E #i= 35 41 76 104 | 65.6
13 N7 KR 44 46 90 | 238 [ 66.2
14 X8 Xk 39 43 82 | 156 | 66.4
15 BHE FEsh 47 57 104 | 376 | 66.4
16 T I 44 40 84 | 16.7 | 67.3
17 TR A S 46 51 97 | 296 | 674
18 X5 FE 40 42 82 145 | 675
19 =i 5 42 42 84 | 154 | 68.6
20 ® R 46 50 96 273 | 68.7
21 IRE = A1 48 89 | 202 [ 688
22 SH B 34 43 77 78 | 69.2
23 Ek &g 39 44 83 | 137 | 69.3
24 BH = 38 48 86 | 16.4 | 69.6
25 AL SrE 38 39 77 7.2 | 69.8
26 =2 &K 38 44 82 11.9 | 70.1
27 X0 FF 41 51 92 | 208 | 71.2
28 KEF IEX 36 45 81 96 | 71.4
29 =)l F0AI 42 48 90 | 179 | 721
30 FAg FOiE 45 52 97 | 246 | 724
31 wRH*F EH 43 49 92 | 194 [ 726
32 HLE EF 35 47 82 8.7 | 73.3
33 jna #w&E 42 45 87 | 132 | 738
34 IRA =& 42 47 89 | 151 [ 73.9
35 b e =B 40 47 87 | 128 | 74.2
36 XH Z2# 51 55 106 | 315 | 745
37 R ®B= 43 46 89 144 | 74.6
38 EL HiE 43 42 85 92 | 75.8
39 X8 —4% 39 49 88 | 119 | 76.1
40 b 2= 45 52 97 204 | 76.6
41 Rk _&A 46 46 92 | 136 | 784
BB | 42 Tk IEB 47 53 100 | 206 | 79.4
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